Quiz

1. Which of the following options is correct:

a) Providing the best frame for evaluation on the influence of one product;

b) Intensive usage by the industry for analysis and avoiding of all negative influences on
the environment;

c) LCA improves the competition of the company;

d) All answers are correct

2. Is transport a part of the phases of LCA?

a) Yes
b) No

3. What is the Green product guide?

a) directions about the productions and processes that should be analyzed
b) Focus on implementation of a singular indicator for analysis of the overall influence
c) analysis of the constructive sector or constructions in a certain pattern

4. What is the first step for a successful realization of LCA?

a) Selection of the person that will gather data
b) Forming LCA team
c) Initial meeting

5. What is the final step?

a) Progress monitoring
b) / Review of LCA results and conclusions
c) Forming of LCA team

6. What should there be in the place of the question mark?

a) Impact assessment
b) Improvement ) _
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7. Is the emissions and waste phrase missing in the field marked with a question mark ?
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8. Assembling of a list with relevant entries and exits of the manufacturing system/cycle is
included in LCA?

a) Yes
b) No

9. Choose what is correct of the listed:

a) The LCA method should succumb to the conclusions of the new scientific achievments
and improvements in “state-of-the-art” of the technology

b) In LCA exploration are also used many separate requirements that are used for com
parative proofs and are exposed to the public

c) There are no scientific backgrounds for reducing the LCA results toward a more simple
and all-including result or number,

10. What is missing in
the field marked with
a question mark?
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